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Tossups

1. Born in Berlin in 1880, and receiving his early training from in astronomy from the University there, he became interested in meteorology and pioneered the use of weather balloons to track air masses.  However, his most famous work was in the field of geology, where, through observations of geographical features and fossil records, came up with the theory of continental drift.  FTP, name this pioneer in the field of plate tectonics.

ANSWER: Alfred Lothar Wegener
2. He operated a jazz club called “Peter Cat” for eight years, and one of his novels is named after a song by the Beatles.  He interviewed 63 survivors of the Sarin gas attack on the Tokyo subway after returning to Japan from Princeton University, where he wrote his best-regarded novel, in which Toru Okada’s cat and wife leave him.  For ten points, identify this contemporary Japanese novelist, author of Sputnik Sweetheart, Norwegian Wood, and The Wind-Up Bird Chronicle.

ANSWER: Haruki Murakami
3. In 2006, it contracted with Ralph Lauren for uniforms, the first time they ever entered into such a contract with an outside company.  It is planning to add a retractable roof to one of its venues, enough time to be used in 2012 as part of the Olympic Games.  Apparel from it is adorned with green and purple, the official colors, and competitors in it are expected to wear white, which has proven problematic for such flamboyant personalities as the Williams sisters and Andre Agassi.  For 10 points, name this only major tennis tournament played on grass in England.

ANSWER:  The Championships, Wimbledon
4. Born in Sweden, he moved to America when he was six years old and later studied at the Art Institute of Chicago. Though his approach differed from Andy Warhol and Roy Lichtenstein, he is also associated with Pop Art.  For ten points, name this sculptor famous for making soft sculptures of normally hard objects and for enlarging everyday objects, most notably his Spoonbridge and Cherry in Minneapolis and Saw, Sawing in Tokyo.  

ANSWER: Claes Oldenburg
5. This man is now primarily known as a philosopher and economist but his History of Great Britain is what gained him fame during the Lowland Enlightenment.  This man’s Fork attempts to prove that no certainty exists due to the fallibility of our senses.  Most people emphasize this Scot’s influence on skepticism and naturalism but his influence in economics must also be noted. For ten points, name this Scottish man who received much criticism for his economic condemnation of the mercantile system.

ANSWER: Alexander Hume
6. Pencil and paper ready. At midnight, the hour and minute hands of a standard 12-hour wall clock align. You wonder how many times over the course of a day this happens. You realize that it happens once in the one o’clock hour, once in the two o’clock hour, and so forth. Knowing this, and only counting midnight once, how many times a day do the hour and minute hands of an analog clock line up? You have 15 seconds.

ANSWER: 22
7. He had little success in politics.  In 1906, he garnered three percent of the vote as a Socialist candidate for Congress in New Jersey, and later gained the Democratic nomination for governor of California, but lost the general election.  Where he failed to enact change politically, he succeeded socially, largely thanks to a novel he serialized in the socialist newspaper The Appeal to Reason.  For ten points, name this notable muckraker, the author of The Jungle. 

ANSWER: Upton Sinclair
8. The first of these events helped escalate the Hussite War in 1419.  The second one was precipitated by alleged violations of the Letter of Majesty.  It occurred when an assembly of Protestants tossed two Catholic governors and their scribe out of a window for violating the Letter of Majesty issued by Rudolf II.  For ten points, name this event which led to the initiation of the Thirty Year’s War.

ANSWER: Defenestration of Prague
9. Even though it was a tactical defeat, this battle was a strategic victory for the Allies because it eliminated the Japanese threat to Australia. A turning point in the War in the Pacific, it was fought in early May 1942 and set the stage for the Battle of Midway, one month later. The USS Lexington was lost and the USS Yorktown was damaged in this, for ten points, the first naval battle fought exclusively with aircraft.

ANSWER: The Battle of Coral Sea
10. In some protists, the contractile type of these is capable of pumping water out of the cell in order to maintain proper osmotic pressure. In animal cells, the structures are able to fuse with the lysosome to aid in digestion. Their role is the most important in the plant kingdom, where they are surrounded by the tonoplast and help to maintain turgor pressure. For ten points, name this membrane-bound organelle, a glorified storage sac. 

ANSWER: vacuole
11. This process happens in two reversible steps and two adiabatic steps, the first of which is a reversible isothermal expansion of the gas. Though it is only theoretical, Rudolf Diesel tried to imitate it in his work. For ten points, name thermodynamic cycle that reflects the perfect engine, the creation of a 19th century French chemist.
ANSWER: Carnot cycle (prompt on Carnot engine)
12. We do not associate it with French, but it is the only Canadian province that has both English and French as official languages. It is located south of the Gaspe Peninsula, west of Nova Scotia and north of Maine. Large cities here include Moncton, the much larger Saint John, and the capitol, Fredericton. For ten points, name this maritime province of Canada.

ANSWER: New Brunswick 
13. He won the National Medal of Science and Presidential Medal of Freedom in 1988 plus the Nobel Prize in Economics in 1976.  He began his career at the Treasury Department in 1941, but by 1946, he was a Professor at the University of Chicago, where he remained for 30 years.  He is recognized for monetarism, which says that inflation is an effect of money supply being greater than money demand.  For ten points, name this famous economist, who died on November 16, 2006.  

ANSWER: Milton Friedman
14. Two communities, Twin Oaks and Los Horcones, were founded in response to this work and its author cited Francis Bacon’s Atlantis as his inspiration. The novel faced a rocky road to publication, and it was only published after its author agreed to also write a textbook for the same company, called Science and Human Behavior. For ten points, name this 1948 Utopian novel by the psychologist B.F. Skinner, whose title alludes to a work by Thoreau.

ANSWER: Walden II 
15. When his mother became pregnant, she at first thought she had contracted an intestinal parasite. This is why his name means “intestinal beetle” in his native tongue. It was not a parasite after all, but one of the 19th century’s great military minds, who would gain control of his clan by defeating his brother. For ten points, name this ruler who won his battles in present day South Africa, the most famous commander of the Zulus. 

ANSWER: Shaka Zulu
16. The transition to this style was marked by a decrease in the influence of Greco-Roman traditions and shallow backgrounds with little allusion to optical space. Architecture emphasized the arch and the dome, and interior decoration was mainly mosaics of religious scenes with characteristic dangling feet and golden halos. For ten points, name this style of the Eastern Roman Empire exemplified by the Justinian mosaic at San Vitale. 

ANSWER: Byzantine style/art
17. Pencil and paper ready.  Alex is walking to the grocery store 5 miles from his home to pick up some milk and cookies at an average rate of 5 miles per hour. After walking for 12 minutes, he is spotted by his uncle who picks him up and drives him the rest of the way at an average rate of 30 miles per hour. You can calculate Alex’s average speed by noting that his uncle drove him four miles, and thus it took 8 minutes. For ten points, find Alex’s average speed over the whole trip.

ANSWER: 15 miles per hour
18. In addition to several Shakespearean-inspired names, Uranus has a few moons named for characters from this poem, including Umbriel, a gnome bearing magical gifts, and Belinda, the heroine of the work.  Another major character in the poem is the Baron, perpetrator of the titular misdeed.  For ten points, name this mock epic written by Alexander Pope which records the theft of a single curl.

ANSWER: The Rape of the Lock
19. According to a study conducted by economist Joel Waldfogel in 1993, national purchases of Christmas gifts created a large amount of this economic quantity, equal to about 10-18% of all Christmas purchases. Other causes of it include monopoly pricing, taxes, and binding price ceilings or floors, all of which can cause a market to deviate from the normal equilibrium output level.  For ten points, identify this loss of economic efficiency that results when a market is not producing the socially optimal amount of goods.
ANSWER:  deadweight loss (accept excess burden)
20. Symbolized in political cartoons by a tiger, it was first led by Aaron Burr, who used its power to support the Jeffersonian Republicans in New York. Beginning in 1839, it became a proponent of the Democratic Party, which it continued to associate with into the twentieth century. For ten points, name this political machine of New York City, whose notable leaders included the infamous Boss Tweed.

ANSWER: Tammany Hall
21. They can be described by the differential equation “The second derivative with respect to time of position x is equal to a constant omega squared times the position x,” an equation whose solution is a cosine function of x.  Non-idealized examples in nature include grandfather clocks and the mass-spring systems.  For ten points, give this type of motion, in which the restoring force on an object is proportional to the distance from the origin.

ANSWER: Simple Harmonic motion (prompt on harmonic motion)
Bonuses
1. Given two national parks, identify the American state they are located in for ten points each.

[10] Arches, Capitol Reef.

ANSWER: Utah
[10] Big Bend, Guadalupe Mountains

ANSWER: Texas
[10] North Cascades National Park, Olympic National Park

ANSWER:  Washington 
2. Answer these questions about the history of Indonesia for ten points each.

[10] Indonesia declared its independence from which European country in 1945?

ANSWER: The Netherlands or Holland
[10] Indonesia’s first leader was this man, who led the country from independence all the way until 1967.

ANSWER: Sukarno

[10] After years of violent clashes, this island nation obtained its independence from Indonesia in 1999. Its independence was recognized by Portugal, who once occupied this island, in 2002.

ANSWER: East Timor
3. Answer these questions about a figure from English literature for ten points each:
[10] Each verse consists of eight lines of iambic pentameter followed by one of iambic hexameter, a form unique to this allegorical sixteenth century English epic poem, in which Arthurian knights representing virtues embark on glorious quests.
ANSWER: The Faerie Queene
[10] This staunchly anti-Cahtolic Protestant wrote The Faerie Queene.
ANSWER: Edmund Spenser
[10] Spenser dedicated The Faerie Queene to this Tudor monarch, whose 1559 Act of Uniformity obligated every Englishman to attend Anglican service once a week.
ANSWER: Elizabeth I
4. Answer the following about tessellations for the stated number of points.

[5] For five points, this artist was known for his use of tessellations in many of his works, including his Ascending and Descending and his Circle Limits I-IV.
ANSWER: Maurits Cornelius Escher
[10] For ten points, this theorem states that for any plane separated into regions, such as tessellations, only a certain number of colors are required so that no two regions of the same color share an edge.

ANSWER: Four Color Theorem

[5,5,5] For five points each, name the three regular polygons that can be formed into a regular tessellation, a tessellation that consists solely of one type of regular polygon.

ANSWER: equilateral triangle, square, regular hexagon
5. Answer these questions about a recently deceased American novelist:

[10] His first novel was Lie Down in Darkness and he wrote about his experience with depression in the memoir Darkness Visible.

ANSWER: William Styron

[10] Styron won a 1967 Pulitzer Prize for this novel, narrated by the leader of an 1831 Virginia slave revolt.

ANSWER: The Confessions of Nat Turner
[10] In this semi-autobiographical Styron novel, the young southerner Stingo befriends a beautiful, Catholic Holocaust survivor and her brilliant, but mentally unstable, Jewish boyfriend.

ANSWER: Sophie’s Choice
6. For ten points each, identify these political theorists from quotes from their works.
[10] “The only purpose for which power can be rightfully exercised over any member of a civilized community, against his will, is to prevent harm to others. His own good, either physical or moral, is not sufficient warrant.”

ANSWER: John Stuart Mill
[10] “Being all equal and independent, no one ought to harm another in his life, health, liberty or possessions.”

ANSWER: John Locke
[10] “Since it is difficult to join them together, it is much safer to be feared than loved when one of the two must be lacking.”

ANSWER: Niccolo Machiavelli
7. Name the scientific law given its description for ten points each.

[10] This law allows one to add the enthalpy changes of each step in a multi-step reaction in order to obtain the total enthalpy change.

ANSWER: Hess’s Law

[10] This law states that the vapor pressure of an ideal solution is dependent upon the pressure of the pure components in the solution, multiplied by their respective mole fractions.

ANSWER: Raoult’s Law

[10] This law requires that degenerate orbitals be filled so that a maximum number of parallel electron spins is achieved before any electrons are paired.

ANSWER: Hund’s Rule of Maximum Multiplicity
8. Given the name of a famous jazz musician, name the instrument he was best known for performing on.

[10] Artie Shaw

ANSWER: Clarinet
[10] Jelly Roll Morton

ANSWER: Piano
[10] Art Blakey

ANSWER: Drums or drumset
9. For ten points each, answer these questions about the American women’s rights movement.
[10] It became the first women’s rights convention held in the United States, and it was named for the town in New York where it was held in 1848.
ANSWER: Seneca Falls Convention
[10] At the Seneca Falls Convention, a hundred people, including some men, signed this famous document modeled after the Declaration of Independence.
ANSWER: Declaration of Sentiments
[10] Identify the woman who was the principal author of the Declaration of Sentiments and who was a major figure of the women’s rights movement.
ANSWER: Elizabeth Cady Stanton
10. Answer the following questions about world elections that took place in 2006, for 10 points each.

[10] In January 2006, this political party won the majority of seats in the election for the Palestinian legislative council.

ANSWER: Hamas
[10] This man’s coalition won Italy's parliamentary elections, defeating Sylvio Berlusconi’s coalition.  He now serves as Prime Minister of Italy.

ANSWER: Romano Prodi
[10] After a controversial election and allegations of fraud, this man was confirmed as the winner of Mexico's presidential election two months after it took place.

ANSWER: Felipe Calderon
11. For ten points each, identify this eponymous electrical laws.

[10] This law relates the sum of the currents contained within a closed loop to the magnetic field created by those currents.
ANSWER: Ampere’s Law

[10] This law states that the current passing through a conductor is directly proportional to the potential difference across the two terminal points and inversely proportional to the resistance of the conductor between the two terminal points.

ANSWER: Ohm’s Law

[10] The induced electromotive force in a closed loop equals the negative of the time rate of change of magnetic flux through the loop.

ANSWER: Faraday’s Law of Electromagnetic Induction (prompt on answer that doesn’t include Faraday)

12. Given the year and the third-party candidate, identify the party, for ten points each.

[10] 1948, Strom Thurmond

ANSWER: Dixiecrat or State’s Rights Party

[10] 1924, Robert LaFollette

ANSWER: Progressive Party

[10] 1996, H. Ross Perot

ANSWER: Reform Party
13. Answer these questions about the Franco-Prussian war for ten points each:

[10] This account of a meeting between a French diplomat and King Wilhem of Prussia was deliberately edited and leaked to the press in order to outrage the public and provoke war.

ANSWER: Ems Dispatch/Telegram

[10] Identify the Prussian statesman who leaked the Ems Dispatch.  He became the first Chancellor of the German empire.

ANSWER: Otto von Bismarck

[10] Like his uncle, this man failed to hold on to the French Empire, but he spent his exile in England, not Elba.

ANSWER: Napoleon III (accept Charles Louis Napoleon Bonaparte)
14. For ten points each, identify these questions about a river in Africa.

[10] This fourth longest river in Africa starts in Zambia and it flows through Angola, Botswana, Zambia, Zimbabwe, and Mozambique. 

ANSWER: Zambezi River

[10] The Zambezi empties into what large body of water off the coast of Mozambique? 

ANSWER:  Indian Ocean
[10] Another African landmark is found on the Zambezi, and it marks the transition point between the Upper and Middle portions of the river. Identify this waterfall, which is the largest waterfall in the world by width. 

ANSWER:  Victoria Falls
15. Identify these styles of architecture for ten points each.

[10] This movement lasted from approximately 1910 until 1940 and the Chrysler Building’s spire is a well-known example of the style.

ANSWER: Art Deco
[10] This style originated out of England and was prominent from about 1720 until 1840. Named for a British monarch, was characterized by simple uses of form and ratio.

ANSWER: Georgian
[10] The most notable examples of this style of the Medieval period are its impressive cathedrals, and it was also characterized by pointed arches and vaulted spaces.

ANSWER: Gothic
16. Given a function or list of functions, identify the lobe of your brain being described for ten points each.

[10] This lobe contains the cortex that allows you to see and identify images.

ANSWER: occipital lobe

The inferior part of this lobe helps you identify faces you know. It is also contributes heavily to your ability to hear.

ANSWER: temporal lobe

The primary motor cortex is located here, along with Broca’s Area, which functions in speech. It also manages many of the brain’s higher functions.

ANSWER: frontal lobe
17. Identify these Egyptian deities for ten points each. 
[10] He was the sun god and in later mythology was combined with Amun.
ANSWER: Ra
[10] Symbolized by a jackal, he was the god of embalming and the dead.
ANSWER: Anubis 
[10] Often shown as a falcon, this god was associated with the sky.
ANSWER: Horus
18. Given a description, identify the constellation, for ten points each.

[10] The Babylonians, Persians, Greeks, and Egyptians all agreed on this constellation as resembling a ram.

ANSWER: Aries
[10] Orion the hunter is seen fighting Taurus, the bull, and this constellation, the hare.

ANSWER: Lepus
[10] This northern constellation represents a vain queen who boasted of her unrivaled beauty.

ANSWER: Cassiopeia
19. Identify these related characters from The Catcher in the Rye for ten points each.

[10] This is the 10-year-old younger sister of Holden Caulfield.

ANSWER: Phoebe Caulfield

[10] Holden possesses this younger brother’s baseball glove, who died three years before the novel’s action.

ANSWER: Allie Caulfield

[10] He is Holden’s older brother, a professional writer who lives in California.

ANSWER: D.B. Caulfield
20. Pencil and paper ready, 15 seconds for each part. Given any natural number, one can add up all of its positive divisors (excluding the number itself), and then classify it as abundant if the resulting sum is greater than the number, deficient if the resulting sum is less than the number, and perfect if the resulting sum is the number. For instance, 6 is perfect since 1+2+3=6, and 12 is abundant since 1+2+3+4+6 is greater than 12. For ten points each, classify the following numbers as abundant, deficient, or perfect.

[10] 512

ANSWER: deficient (the factors add up to 511)

[10] 28

ANSWER: perfect
[10] 61

ANSWER: deficient (the only such factor is 1)

21. Answer the following about Broadway musicals set to become major films in the next few years, for 10 points each.  Hopefully unlike Dreamgirls these won’t skimp on details like not having massive plotholes.

[10] Unlike Dreamgirls, this show doesn’t really care so much about its plot as the story of Sophie trying to figure out who her father is so he can give her away at her wedding really serves as an excuse to move from ABBA song to ABBA song.

ANSWER: Mamma Mia!
[10] John Travolta will star in drag with Queen Latifah and Christopher Walken in this film adaptation of a musical set in Baltimore about Tracy Turnblatt, a young big girl who becomes a popular dancer on a TV show.  This show was adapted from the John Waters film of the same name.

ANSWER: Hairspray
[10] Tim Burton will direct his wife Helena Bonham Carter and Johnny Depp in this film version of a Stephen Sondheim classic.  Depp will play the title character, the demon barber of Fleet … Street.

ANSWER: Sweeney Todd
